RESOLUTION NO. 2021- 219

A RESOLUTION AWARDING A CONTRACT TO ZONE STRIPING INC., GLASSBORO, NJ FOR THE COMPLETION OF 2021 CITYWIDE LINESTRIPING, IN THE AMOUNT OF \$66,333.77.

WHEREAS, the City of Vineland has heretofore advertised for bids for the Completion of 2021 Citywide Linestriping for the City of Vineland, in accordance with specifications on file in the office of the Purchasing Agent; and

WHEREAS, on April 22, 2021, bids were received, duly opened and read aloud, being referred to the Business Administrator for tabulation, evaluation, report and recommendation; and

WHEREAS, the Business Administrator has, under date of May 4, 2021, submitted a written report and tabulation of bids received and has recommended that a contract for the Completion of 2021 Citywide Linestriping, be awarded to Zone Striping Inc., Glassboro, NJ, in the amount of \$66,333.77, said bid being the lowest bid received and considered in the best interest of the City of Vineland.

NOW, THEREFORE, BE IT RESOLVED by this City Council that a contract for the Completion of 2021 Citywide Linestriping, be awarded to Zone Striping Inc., Glassboro, NJ, in the amount of \$66,333.77, said bid being the lowest bid received and considered in the best interest of the City of Vineland, and the Purchasing Agent be and the same is hereby authorized and directed to issue a purchase order contract for the same in behalf of the City; and

BE IT FURTHER RESOLVED that the City Comptroller has certified that the funds for the contract to be awarded herein are available.

Adonted:

| Adopted. | |
|--------------|----------------------|
| | |
| | |
| | |
| | |
| | President of Council |
| ATTEST: | |
| TITLEST. | |
| | |
| | |
| | |
| City Clerk | |
| - | |



May 4, 2021

REPORT TO: THE MAYOR AND COUNCIL

RE: Proposals Submitted to the Purchasing Board 4/22/21

Dear Mayor and Members of Council:

Submitted to you herewith for your consideration is our evaluation of the proposals submitted to the Purchasing Board on April 22, 2021.

COMPLETION OF 2021 CITYWIDE LINESTRIPING

It is the recommendation of the City Engineer, which has the concurrence of the Purchasing Agent and Business Administrator that a contract be awarded to the low bidder, Zone Striping Inc., Glassboro, NJ, in the amount of \$66,333.77.

We trust that the above recommendation will receive your favorable consideration and that the recommended resolution will be adopted as presented.

Respectfully submitted,

Robert E. Dickenson, Jr.

Business Administrator

RD/wr



BID EVALUATION FORM

| DEPARTMENT ADMIN / CITY ENGINEER Date: 4/23/2021 | |
|---|--------------------------------------|
| The undersigned recommends that a contract be awarded for the following: | |
| Bid Title: 2021 CITYWIDE LINESTRIPING PROGRAM | |
| 2. Amount to be Awarded: 66,333.77 | |
| Encumber Total Award | |
| Encumber by Supplemental Release | |
| 3. Engineer's Estimate: 112,870.15 | |
| 4. Amount Budget: \$ | |
| 5. Account Number to be Charged: C-04-00-000-1918-78001 | |
| 6. Date Bids Received: 04/22/2021 | |
| 7. Date to be Awarded: 05/11/2021 | |
| 8. Recommended Vendor: ZONE STRIPING, INC. | |
| 9. Is Recommended Vendor the Apparent Lowest Bidder? Yes No | |
| 10. Comments/Special Instructions: | |
| 11. Evaluation Performed by: David J. Maillet, PE, City Engineer | |
| 12. Approved By: | |
| David J. Maillet, PE, City Engineer | |
| 13. Attached: (Check-Off List) | |
| Tabulation of Bids Justification for Vendor Recommendation (if applicable) Evaluation Data (if applicable) | EIVED |
| Send copies to: Purchasing Department | 2 6 2021 F VINELAND ESS ADMIN. |

TABULATION OF BIDS-COV BID # 2021-07 2021 CITY WIDE LINESTRIPING PROGRAM APRIL 22, 2021

Engineers estimate - \$ 112,654.15

| | Zone Striping Inc. PO Box 568 Glassboro, NJ 08028 | Traffic Lines, Inc. 5100 Asbury Road Farmingdale, NJ 07727 | Dan Swayze & Son Inc 2351 Waldheim Avenue Scotch Plains, NJ 07076 | | | | |
|------------------|---|--|---|--|--|--|--|
| BB, CAC, CEC | BB 10% | BB 10% | BB 10% | | | | |
| Surety | YES | YES | YES | | | | |
| Ownership Discl. | YES | YES | YES | | | | |
| Affirm. Action | YES | YES | YES | | | | |
| Check List | YES | YES | YES | | | | |
| Proposal | YES | YES | YES | | | | |
| Addenda | YES | YES | YES | | | | |
| Iran Disclosure | YES | YES | YES | | | | |
| List of Subs. | NONE | NONE | NONE | | | | |
| TOTAL | \$66,333.77 | \$70,850.75 | \$72,793.85 | | | | |

Specifications also received by the following:

Prim Vendor
CIS Leads
Construct Connect
Denville Line Painting



PURCHASING AGENT RECOMMENDATION AWARD **COV BID # 2021-07**

Proposals were received and opened Thursday, April 22, 2021 at 2:00 PM for 2021 Citywide Linestriping from the following:

Zone Striping, Inc:

\$63,333.77

Traffic Lines Inc:

\$70,850.75

Dan Swayze & Son Inc:

\$72,793.85

Comments: All the mandatory documents were submitted.

Recommendation: Award to Zone Striping Inc. as they submitted the lowest responsive responsible bid unless the using department can justify reason not to award to Zone Striping.

Purchasing Agent

CITY OF VINELAND 2021 CITYIWIDE LINESTRIPING (VARIOUS LOCATIONS) BID TABULATION

BID OPENING DATE APRIL 22, 2021

| | CONTRACT REFORMATION | 1600 | No. | ENGREES | TS ESTEMATE: | eteors. | ZONE STR | PING INC. | 建筑地 | K2.He17 | TRAFFIC I | LINES INC | EXECUTE: | ALC: XX | DAN SWAYZ | | ANGERS. |
|--------|--|--------|----------|--------------------------|--------------|-------------|--------------|----------------|--|-------------------|--------------|----------------|--|-------------------|--------------|----------------|----------------------|
| MO. | DESCRIPTION | UNITS. | CONTRACT | ENG. EST/ UNIT PRICE. | ENG. EST. T | UNIT PRICE | BED TOTAL | % of ENG. EST. | \$ DEFERENCE (CONTRACTOR - ESTIMATE) | EID UNIT PROCE | BID TOTAL | % OF ENG. EST. | \$ DETERENCE (CONTRACTOR - ESTIMATE) - | BIO UNIT PRICE | BID TOTAL | A OF ENG. EST. | CONTRACTOR - |
| 1.1 | TRAFFIC CONTROL | LS | 1 | \$15,000.00 | \$ 15,000.00 | \$ 5,854.77 | \$ 5,854.77 | 39.03% | (\$9,145.23) | \$ 5,000.00 | \$ 5,000.00 | 33.33% | (\$10,000.00) | \$ 13,000.00 | \$ 13,000.00 | 86.67% | (\$2,000.00) |
| 1.2 | POLICE TRAFFIC CONTROL | HOUR | 40 | \$103.79 | \$ 4,151.60 | \$ 103.79 | \$ 4,151.60 | 100.00% | | \$ 125.00 | \$ 5,000.00 | 120.44% | \$848.40 | \$ 103.79 | \$ 4,151.60 | 100.00% | |
| 13.1.1 | TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, | ĿF | 29,645 | \$0.30 | \$ 8,893.50 | \$ 0.32 | \$ 9,486.40 | 106.67% | \$592.90 | \$ 0.40 | \$ 11,858.00 | 133.33% | \$2,964.50 | \$ 0.30 | \$ 8,893.50 | 100.00% | |
| 13.1.2 | TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 4"YELLOW | ĿF | 19,400 | \$0.30 | \$ 5,820.00 | \$ 0.32 | \$ 6,208.00 | 106.67% | \$388.00 | \$ 0.40 | \$ 7,760.00 | 133.33% | \$1,940.00 | \$ 0.30 | \$ 5,820.00 | 100.00% | |
| 13.1.3 | TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 6" WHITE | tF | 8,405 | \$1.20 | \$ 10,086.00 | \$ 0,48 | \$ 4,034.40 | 40,00% | (\$6,051.60) | \$ 0.60 | \$ 5,043.00 | 50.00% | (\$5,043.00) | \$ 0.50 | \$ 4,202.50 | 41.67% | (\$5,883.50) |
| 13.1.5 | TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 8" WHITE | ĿF | 140 | \$0.54 | \$ 75.60 | \$ 0.64 | \$ 89.60 | 118.52% | \$14.00 | \$ 0,80 | \$ 112.00 | 148.15% | \$36,40 | \$ 0.60 | \$ 84,00 | 111.11% | \$8.40 |
| 13.2.1 | TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 4" WHITE | Ŀ | 5,200 | \$0.80 | \$ 4,160.00 | \$ 1.20 | \$ 6,240.00 | 150.00% | \$2,080,00 | \$ 0.65 | \$ 3,380.00 | 81.25% | (\$780.00) | \$ 0.75 | \$ 3,900.00 | 93.75% | (\$260.00) |
| 15.2.2 | TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 4" YELLOW | ĿF | 145 | \$0,80 | \$ 116.00 | \$ 1.20 | \$ 174.00 | 150.00% | \$58.00 | \$ 0.65 | \$ 94.25 | 81.25% | (\$21.75) | \$ 0.75 | \$ 108.75 | 93.75% | (\$7.25) |
| 19.2,3 | TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 6" WHITE | UF. | 4,545 | \$1.61 | \$ 7,317.45 | \$ 1.00 | \$ 4,545.00 | 62,11% | (\$2,772.45) | \$ 1.00 | \$ 4,545.00 | 62.11% | (\$2,772.45) | \$ 1.05 | \$ 4,772.25 | 65.22% | (\$2,545.20) |
| 13.2.6 | TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 24" WHITE | UF . | 1,015 | \$4.90 | \$ 4,973.50 | \$ 4.00 | \$ 4,060.00 | 81.63% | (\$913.50) | \$ 3.90 | \$ 3,958.50 | 79.59% | (\$1,015.00) | \$ 3.75 | \$ 3,806.25 | 76,53% | (\$1,167.25) |
| 13.2.7 | TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 24° YELLOW | UF | 100 | \$3.75 | \$ 375.00 | \$ 4.00 | \$ 400.00 | 106.67% | \$25.00 | \$ 3.90 | \$ 390.00 | 104.00% | \$15.00 | \$ 3.75 | \$ 375.00 | 100.00% | |
| 13.3.1 | TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, LEFT ARROW, WHITE | UNIT | 2 | \$118.25 | \$ 232.50 | \$ 115.00 | \$ 230.00 | 98,92% | (\$2.50) | \$ 95.00 | \$ 190.00 | 81.72% | (\$42.50) | \$ 100.00 | \$ 200,00 | 86.02% | (\$32.50) |
| 13.3.2 | TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, RIGHT ARROW, WHITE | UNIT | 1 | \$110,00 | \$ 110.00 | \$ 115,00 | \$ 115.00 | 104.55% | \$5.00 | \$ 95.00 | \$ 95.00 | 86,36% | (\$15.00) | \$ 100.00 | \$ 100.00 | 90.91% | (\$10.00) |
| 13.3.4 | TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, COMBINATION ARROW, WHITE | UNIT | 1 | \$211.25 | \$ 211.25 | \$ 230,00 | \$ 230.00 | 108.88% | \$18.75 | \$ 190.00 | \$ 190.00 | 89.94% | (\$21.25) | \$ 150.00 | \$ 150.00 | 71.01% | (\$61.25) |
| 13.3.5 | TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, "ONLY" LEGEND, WHITE | UNIT | 3 | \$134. <u>2</u> 5 | \$ 402.75 | \$ 125.00 | \$ 375.00 | 93.11% | (\$27.75) | \$ 145,00 | \$ 435.00 | 108.01% | \$32.25 | \$ 100.00 | \$ 300.00 | 74.49% | (\$102,75) |
| 13.3.6 | TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, "RXR" SYMBOL, WHITE | UNIT | 2 | \$400.00 | \$ 800.00 | \$ 700.00 | \$ 1,400.00 | 175.00% | \$600,00 | \$ 495.00 | \$ 990.00 | 123.75% | \$190.00 | \$ 750.00 | \$ 1,500.00 | 187.50% | \$700.00 |
| 13.3.8 | TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, "STOP AHEAD" LEGEND, WHITE | UNIT | 4 | \$311.25 | \$ 1,245.00 | \$ 275.00 | \$ 1,100.00 | 88.35% | (\$145.00) | \$ 325.00 | \$ 1,300.00 | 104.42% | \$55,00 | \$ 225.00 | \$ 900.00 | 72.29% | (\$345.00) |
| 13.3.9 | TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, RUMBLE STRIPS, WHITE | LF | 2,400 | \$15.00 | \$ 38,000.00 | \$ 1,30 | \$ 3,120.00 | 8.67% | (\$32,880.00) | \$ 3.00 | \$ 7,200.00 | 20.00% | (\$28,800.00) | \$ 3,00 | \$ 7,200.00 | 20.00% | (\$28,800.00) |
| 13.4.1 | TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, PREFORMED, STRAIGHT ARROW, WHITE | UNIT | 34 | \$100.00 | \$ 3,400.00 | \$ 160,00 | \$ 5,440.00 | 160.00% | \$2,040.00 | \$ 65.00 | \$ 2,210.00 | 65.00% | (\$1,190.00) | \$ 95.00 | \$ 3,230.00 | 95.00% | (\$170.00) |
| 13.4.2 | TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, PREFORMED, "BIKE" SYMBOL, WHITE | UNIT | 36 | \$250,00 | \$ 9,000.00 | \$ 160.00 | \$ 5,760.00 | 64.00% | (\$3,240.00) | \$ 300.00 | \$ 10,600.00 | 120.00% | \$1,800.00 | \$ 275.00 | \$ 9,900.00 | 110.00% | \$900.00 |
| 13.4.3 | TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, PREFORMED, "END" LEGEND, WHITE | UNIT | 2 | \$250.00 | \$ 500.00 | \$ 160.00 | \$ 320.00 | 64.00% | (\$180.00) | \$ 150.00 | \$ 300.00 | 60,00% | (\$200.00) | \$ 100.00 | \$ 200.00 | 40.00% | (\$300.00) |
| | | | | | | | | | | | | | V Ser . 20. 3. 27. 27. | | T and the | and Manager - | Joseph San State Com |
| | TOTAL ESTIMATED PROJECT COSTS | | > < | \$ | 112,870.15 | $\geq \leq$ | \$ 63,333.77 | THE PARTY. | THE RESERVED | $\geq \leq$ | \$.70,850.75 | market come | The state of the state of | | \$72,793.85 | and the said | STATE OF THE PARTY. |